BEARING ROLLER cune

N,

»/a—-3—-#4F

No./ B3 A804042

MATERIAL/F4ES

SURFACE/REIT_E(F DPA

RO.5
o
<
Lol o
< <
2.3
YM-85C
0.40g
682727
A904045
R1
S

YM-85C
0.65g
sURFACE/ZREIFE_EIF DPA

MATERIAL/F4 ES

b7

¢10.5

23

35

68277

A103023

MATERIAL/F4 B8

SURFACE/RET E S

68327

MATERIAL/F4 ES
we‘\ght/ EE

SURFACE/ZREIT E(SF DPA

R1

MATERIAL/ A4 ES YM-85C
weight/ EEE 095g
surFACE/REIL_E(SF DPA

69277

N
kY
ol 2
| e
YM-85C
0.90g
69277
o
(e
=]
C305001 55
z
€O
R
R1
m N
ul ~
PR

No./ & A806039

MATERIAL/$4 E8

we'\ght/ 58
surRFACE/ZREIfL EIF

69477

Don't Reprint



BEARING ROLLER GUIDE ~7yvsa-5-sr

No./§ C404053 No./§ C711033
15
(@) 805, o @ RO.5
- s - 3
' £ £
L 9 <
2
2.3
MATERIAL/ A4 EE YM-99C MATERIAL/A4 EE YM-99C
weight/ B8 020g weight/ B8 035g
SURFACE/ZRET EIF DPA 68/1.522 SURFACE/RET EIF DPA 68222
B106002 A208101
A
RO.5
N
L) o
35| ¢
+
A
.6 |
MATERIAL/$4 ES YM-85C MATERIAL/F4 ES YM-85C
weight/ B2 350g weight/ B2 660g
= SURFACE/ZREIFE £ S DPA 69422 SURFACE/REIE LIS DPA 6942z
(]
ro
- m
E% _ C708020 A402009
§ [9)
24
4 10
R2
(@) S
&= 3 ++
- = of g g
+ e 5 o
—1 + |+
55|
7 .
MATERIAL/A1EE HARD CHROME PLATED aTERIAL/AE YM-85C 2
weight/ B8 650g weight/ EEE 240g
Ve Yk sap i MIRROR sureace/ZEfEES DN Fenszzs
A702054 C103010
¢18
05 $27
98
¥ + + ol o 995 1 1 <
+[ ]+ e L T o
$40
$37
MATERIAL/F4 ES YM-85C MATERAL/AHES
weight/i% 270g we\'ght/ﬁ%
surrace/ZREMT IS NS F605225 surrace/ZREE EIF NS 60822




N801039

MATERIAL/ 34 ES YM-85C

weight/ B8 1 40g
surrace/ZREMT IS NS

R1.5

A906045

R4

#5
$18.5
$27

685775

A501079

MATERIAL/F4 ES YM-85C

9.60g

surrace/REIT S NS

LF-10502Z2

5.
11 9.5
MATERIAL/$4 ES YM-85C
weight/ B2 1 30g
surrace/ZREE LS INE 62522
A906035
R1.5 9 (—L—
i "
T f
0| (@]
HE e e o9 ¢
4 5
= mATERIAL/FAEE YM-85C 10
weight/ B2 1 70g
625727

surrace/ZREIT T NS

N903049

MATERIAL/#4 ES YM-85C

76.0g

©
a1
o

A906040

620027

MATERIAL/F4 B
we‘\ght/ §§

ove

ONIHVY3g

]
o
e
=
m
]
]
(5
(5]
m

veo

| s
| o
9
10
16

62577

surrace/ZREE EF INE

MATERIAL/ A ES.

we\'ght/ o

surrace/ZREME EIF NS

b3 | <
o o

ove

6200272

Don't Reprint



N7V 70-—H1 FEHR

$C
$B
ﬁ
E L
S|\ Dl
X&IR
<13 . =
o | | Tf'%ﬁﬁ | 52 | — e
A . B . C : D E e ORI
A502080 6.0 : 30.0 : 450 : 105 R1.0 | #% @ JUR (yvJIL| 24.0g | YM-99C-DPA - PA

A502080-F 6.0 300 450 : 105 35 | #%% @ JUR yyI| 23.0g | YM-99C-DPA - PA

2
A502080-V 6.0 : 30.0 : 450 : 105 RO.3 | #% @ JUR (yvJIL| 24.0g | YM-99C-DPA - PA

A504025 8.0 : 40.0 : 60.0 : 12.5 R1.5 | #%% @ ZJURX Yyv2)L| 41.0g | YM-99C-DPA - PA
A504025-V 8.0 : 400 @ 60.0: 125 RO.5 | #% @ JUR (yvIIL| 41.0g | YM-99C-DPA - PA
A609020 10.0 | 50.0 : 700 : 8.2 R1.0 | #%% @ ZUR Yyv2)| 34.0g | YM-99C-DPA - PA
A701050 10.0 : 50.0 : 80.0 | 16.4 R25 | #% @ JUR (yvIIL| 95.0g | YM-99C-DPA - PA

A701050-F | 10.0 | 50.0 : 80.0 i 16.4 60 | #% @ JUZR yYFIL| 101.0g | YM-99C-DPA - PA

J
A701050-V | 10.0 : 50.0 : 80.0 : 16.4 ROS | #% @ JUR :¥yvJIL| 102.0g | YM-99C-DPA - PA

D112070 30 150 200 @ 4.2 R1.0 | #%% @ ZUR Yyv2)L| 22g | YM-99C-DPA - PBT
D112070-V 30 0 150 20.0: 4.2 RO3 | #%%  JUR vyvJ)IL| 3.0g | YM-99C-DPA - PBT
D211014 40 : 200 285 6.4 R1.0 | #%% @ ZURX Yyv2IL| 6.2g | YM-99C-DPA - PBT
D211014-V 40 : 200 285 6.4 R1.0 | #% @ JUR (yvIIL| 6.2g | YM-99C-DPA - PBT
K502080A 80 : 300 450 : 105 R1O | #%% @ JUR (yv2)| 23.0g | YM-99C-DPA - PA

K502080AF | 5.0 : 30.0 : 450 : 10.5 35 | #%% @ JUR YvIIL| 24.0g | YM-99C-DPA - PA

K502080A-V | 5.0 : 30.0 : 45.0 : 10.5 RO.3 | #% @ JUR (yvJIL| 24.0g | YM-99CDPA - PA

K502080B 50 30.0: 45.0: 10.5

ONIHV3g

K502080B-F | 8.0 : 30.0 : 450 : 10.5 35 | #%% @ JUR YvIIL| 22.5g | YM-99C-DPA - PA

]
(e}
o
=
m
]
o]
=S
o
m

K502080B-V | 8.0 : 30.0 : 450 : 10.5 RO.3 | #% @ ZUR yvZ)L| 23.0g | YM-99C-DPA - PA

7
i
7

R1.0O | #%% @ JUR (vyvJ)| 24.0g | YM-99C-DPA - PA
7
i
7

K502080CF | 6.0 : 30.0 : 450 : 10.5 35 | SUSE @ #AIL i ¥vFIb| 23.0g | YM-99C-DPA - PA

K502080C-V | 4.0 : 30.0 | 45.0: 10.5 RO.3 | SUSE | ZUR : 9L | 24.0g | YM-99C-DPA - PA

K502080D 4.0 30.0 0 450 @ 105 R1.0 | SUSR = JUR | 97 | 24.0g | YM-99C-DPA - PA
K502080E 6.0 : 30.0 : 450 : 105 R1.0 | SUSE | ZUR YvZ)L| 24.0g | YM-99C-DPA - PA
K502080F 6.0 : 30.0 : 450 : 105 R1.0 | #% @ A4 ¥vJIL| 24.0g | YM-99C-DPA - PA
K502080H 8.0 : 300 : 450 : 105 R1.0 | SUSHE | JUR ¥vI)L| 23.0g | YM-99C-DPA - PA
K502080L 7.0 i 30.0 : 450 : 105 R1.0 | #% @ JUR (yvJIL| 23.0g | YM-99CDPA - PA
K502080M 6.0 : 30.0 : 450 : 105 R1.0 | SUSE : #4)b ¥V ZIL| 24.0g | YM-99C-DPA - PA
K502080N 8.0 : 30.0 : 450 : 105 R1.0 | SUSE | AAIL ¥V | 23.0g | YM-99C-DPA - PA
K502080Q 5.0 : 30.0 : 45.0: 105 R1.0 | #%% @ A4  YVII| 24.0g | YM-99C-DPA - PA
K504025A 8.0 : 40.0 | 60.0 : 125 R1.5 | SUSH | JUR ¥vJIL| 41.0g | YM-99C-DPA - PA
K701050D 10.0 : 50.0 : 80.0 : 16.4 R25 | SUSHE | JUZR ¥V | 95.0g | YM-99C-DPA - PA
M912018B 30 150 200 @ 4.2 R1.0 | #% @ A4l ¥yvIIL| 2.3g | YM-99C-DPA - PBT
M912018C 20 150 200 4.2 R1.0 | SUSHE | JUR ¥vIIL| 3.0g | YM-99C-DPA - PBT
M912018D 30 150 20.0 | 4.2 R1.0 | SUSH | JUR yvIIL| 2.3g | YM-99C-DPA - PBT

clicic|<|Cl<|c|c|Cc|Ccic|c|c|c|c|c|c|c|c|c|c|cI|Ci|IC|Ici|IC|IcI<|cI|Icik|ICliclcik|icIk|ICE|C

M912019B 20 200 285 6.8 R1.0 | SUSE @ JUR : 9T 6.0g | YM-99C-DPA - PA
M912019D 40 : 200 285: 6.8 R1.0 | #% @ A4l (YvII| 6.4g | YM-99C-DPA - PA
N912018 30 150 200 : 4.2 R1.0 | #%% @ ZURX Yyv2)L| 23g | YM-99C-DPA - PBT
N912018-V 30 150 200 @ 4.2 RO.3 | #% @ JUR (yvII| 2.4g | YM-99C-DPA - PBT
N912019 40 200 : 285: 6.8 R1.0 | #%% @ ZJURX Yv2)L| 6.4g | YM-99C-DPA - PA
N912019-V 40 200 : 285: 6.8 RO.3 | #% @ JUR (yvJI| 6.5g | YM-99C-DPA - PA
R112070B 30 150 200 4.2 R1.0 | #%% @ A4 Yv2IL| 22g | YM-99C-DPA - PBT
R211014A 40 200 @ 285 6.4 R1.0 | #% @ A4l (YyvII| 6.2g | YM-99C-DPA - PBT
R211014B 50 200 285 64 R1.0 | SUSE | JUR ¥V | 12.0g | YM-99C-DPA - PBT

L



¢C

$B

LY

EEIE

i - 3 WS _
= A B _C D E e EEE | = HE
A208004 3.0 15.0 i 30.0 10.4 R1.0 %R JUR TN 5.6g | YM-99C-DPA - PA
A208004-V 3.0 15.0 i 30.0 10.4 RO.3 #%R JUR ) 5.6g | YM-99C-DPA - PA
A208005 4.0 : 20.0 : 40.0 15.4 R1.0 2R JUR i) 12.0g | YM-99C-DPA - PA
A208005-V 4.0 : 20.0 : 40.0 15.4 RO.3 #*R JUR T 12.0g | YM-99C-DPA - PA
A312030 6.0 i 30.0: 60.0 i 20.0 R1.0 %R JUR TN 35.0g | YM-99C-DPA - PA

A312030-F 6.0 i 30.0 : 60.0 : 20.0 6.0 R JUR (YY) | 34.08 | YM-99C-DPA - PA

A312030-V 6.0 : 30.0 : 60.0 : 20.0 RO.3 B3R JUR YT | 35.08 | YM-99C-DPA - PA

A409001 8.0 40.0 | 80.0 : 25.0 R1.5 %R JUR i YvF)| 58.0g | YM-99C-DPA - PA
A701060 10.0 | 50.0 i1100.0 | 31.2 R2.5 #HR JUR YT | 125.0g | YM-99C-DPA - PA
A701060-V 10.0 : 50.0 :100.0 : 31.2 RO.5 %R JUR YY) | 133.5g | YM-99C-DPA - PA
A811020 10.0 :1100.0 {130.0 | 16.0 R1.0 8% JUR i YVJIb| 158.0g | YM-99CW-DPA - PA
B605050 4.0 20.0 | 32.0 8.2 R1.0 #H%%R JUR (2T 6.8g | YM-99C-DPA : PA
B605050-V 4.0 : 20.0 : 32.0 8.2 RO.3 #HR JUR 1y 7.0g | YM-99C-DPA - PA
K208004B 3.0: 150 : 30.0: 10.4 R1.0 %R FA4I VTN 5.6g | YM-99C-DPA - PA
K208005A 4.0: 20.0 { 40.0: 15.4 R1.0 | SUS% : JUR vV F)b| 12.0g | YM-99C-DPA - PA
K208005B 5.0 20.0 | 40.0: 154 R1.0 | SUS% | JUR {2V7)b| 12.0g | YM-99C-DPA - PA
K208005C 20: 20.0 : 40.0: 154 R1.0 | SUS% | JUR | FTJIL 12.0g | YM-99C-DPA : PA
K208005D 4.0: 20.0 : 40.0: 15.4 R1.0 #HR FA4I VT | 12.0g | YM-99C-DPA - PA
K208005A-V 5.0 20.0 | 40.0 : 15.4 RO.3 | SUSX% : JUR YVZIb| 12.0g | YM-99C-DPA - PA
K312030A 8.0 30.0 { 60.0 : 20.0 R1.0 %R JUR (YT | 12.0g | YM-99C-DPA - PA

K312030A-F 8.0 30.0 { 60.0 : 20.0 6.0 #HR JUR {YvJ)| 35.0g | YM-99C-DPA - PA

K312030A-V 8.0 i 30.0 : 60.0 : 20.0 RO.3 #HR JUR {YvF) | 35.0g | YM-99C-DPA - PA

K312030B 5.0 i 30.0 | 60.0 : 20.0 R1.0 #HR JUR YT | 37.08 | YM-99C-DPA - PA

K312030C 4.0 | 30.0 : 60.0 : 20.0 R1.0 | SUS% | JUR | T 36.0g | YM-99C-DPA - PA

ONIHVY3g

K312030C-V 6.0 | 30.0 : 60.0 : 20.0 RO.3 | SUS% | JUR (V7))L | 35.08 | YM-99C-DPA - PA

]
(o}
e
=
m
]
o]
=
(5]
m

K312030F-F 6.0 i 30.0 : 60.0 : 20.0 6.0 | SUSE | JUR ivVJ)b| 34.0g | YM-99C-DPA - PA

K312030G 6.0 i 30.0 { 60.0 : 20.0 R1.0 | SUS% : #A4J) YY) | 35.08 | YM-99C-DPA - PA
K701060A-V | 10.0 | 50.0 :100.0 : 31.2 RO.5 | SUS% | JUR {2v7)b| 133.5g | YM-99C-DPA - PA
L605050A 20 ¢ 20.0 ¢ 32.0 8.2 R1.0 | SUS% | JUR | FTJIL 8.0g | YM-99C-DPA : PA
L605050B 4.0 20.0 : 32.0 8.2 R1.0 | SUS® | JUR (VT 6.8g | YM-99C-DPA - PA

L605050C-V 2.0 20.0 : 32.0 8.2

RO.3 | SUS% | JUR | 9T 8.0g | YM-99C-DPA : PA

| L|[C[CIL|ClCiK|ClC|Clci|Cclciclcici|cicI|clciICicIk|Icik|C

L605050D-V 40 : 200 : 32.0 : 8.2 RO.3 #®R L AA YV 7.0g | YM-99C-DPA : PA

¢B

¢$C2

E - K 0w _
== A B C C D E e mEE | e = HH
A612010 3.0 15.0: 20.0: 30.0 7.3 U R1.0 #;R JUR )N 3.6g| YM-99C-DPA - PA
A612020 40: 20.0: 28.5: 40.0: 11.0 U R1.0 %R FJUR )N 9.3g| YM-99C-DPA - PA
A612030 6.0: 30.0: 45.0: 60.0: 15.2| U R1.0 %R JUR Y v7)b| 29.0g| YM-99C-DPA - PA
A612040 8.0: 40.0: 60.0: 80.0: 185| U R1.5 %R JUR 7))L | 49.0g| YM-99C-DPA - PA
A701070 10.0: 50.0: 80.0:100.0: 23.6 U R2.5 %R JUR |1 10.0g| YM-99C-DPA - PA
K612020A 5.0 20.0: 28.5: 40.0: 11.0 U R1.0 | SUSX% JUR )N 9.0g| YM-99C-DPA - PA
K612020B 40: 20.0: 28.5: 40.0: 11.0 U R1.0 %R A4 T 9.3g| YM-99C-DPA - PA
K612030A 5.0 30.0: 45.0: 60.0: 15.2 U R1.0 #®R  JUR VI 30.0g| YM-99C-DPA - PA

Don't Reprint



¢C
$B
ﬁ
E\ 5 ‘I—I*r +I Dl
5’4 71
ARAIlE
o | | T.bff%ﬁ% | 52 | — e
A B C D E MR mER .
M912018C 20: 150 200 : 4.2 R1.0 | SUSH | JUR yvJIL| 3.0g | YM-99C-DPA - PBT
M912019B 20 200: 285 6.8 R1.0 | SUSE @ JUR : 9T 6.0g | YM-99C-DPA - PA
D112070 30 150 200 @ 4.2 R1.0 | #% @ JUR (yvJI| 2.2g | YM99C-DPA - PBT
D112070-V 30 150 200 4.2 RO.3 | #% @ JUR (yvIIL| 3.0g | YM-99C-DPA - PBT
M912018B 30 150 200 4.2 R1.0 | #% @ A4l vyvII| 2.3g | YM-99C-DPA - PBT
M912018D 30 150 200 : 4.2 R1.0 | SUSE | ZUR yv2)L| 23g | YM-99C-DPA - PBT
N912018 30 150 200 : 4.2 R1.0 | #% @ JUR (yvJ)| 2.3g | YM-99C-DPA - PBT
N912018-V 30 150 200 4.2 RO.3 | #% @ JUR (yv2)L| 2.4g | YM-99C-DPA - PBT
R112070B 30 150 200 : 4.2 R1.0 | #% @ AA)l ¥yVIIL| 2.2g | YM-99C-DPA - PBT
D211014 40 : 200 285 6.4 R1.0 | #%% @ ZJURX Yyv2lL| 6.2g | YM-99C-DPA - PBT

Z
D211014-V 40 : 200 @ 285 : 6.4 R1.0O | #%%  JUR YyVJ)IL| 6.2g | YM-99C-DPA - PBT

K502080C-V | 4.0 : 30.0 : 45.0: 10.5 RO.3 | SUSH @ JUR | 97 | 24.0g | YM-99C-DPA - PA

K502080D 40 : 300 @ 450 : 105 R1.0 | SUSHE | JUR | 97 | 24.0g | YM-99C-DPA - PA

M912019D 40 200 285 68 R1.0 | #% @ A4l (YvIIL| 6.4g | YM-99CDPA - PA

N912019 40 200 : 285: 6.8 R1.0 | #% @ ZJUR YyvZ)| 6.4g | YM-99C-DPA - PA
o N912019-V 40 200 : 285: 6.8 RO.3 | #% @ JUR (yvJI| 6.5g | YM-99CDPA - PA
% R211014A 40 : 200 285 6.4 R1.0 | #%% @ #4) YvII| 6.2g | YM-99C-DPA - PBT
(o]

K502080AF | 5.0 : 30.0 : 450 : 10.5 35 | #%% @ JUR YvIIL| 24.0g | YM-99CDPA - PA

]
(e}
o
=
m
]
o]
=S
o
m

K502080A-V | 5.0 : 30.0 : 45.0: 10.5 RO.3 | #% @ ZJUR YvZ| 24.0g | YM-99C-DPA - PA

K502080B 50 : 30.0 : 45.0 : 105 R1.0 | #% @ JUR yvJIL| 24.0g | YM-99CDPA - PA
K502080Q 50 30.0: 45.0: 10.5 R1.0 | #%% @ A4  YVZI| 24.0g | YM-99C-DPA - PA
R211014B 50 : 200 @ 285 : 6.4 R1.0 | SUSH | JUR ¥vJIL| 12.0g | YM-99C-DPA - PBT
A502080 6.0 : 30.0 : 450 : 105 R1.0 | #%% @ ZJUR YvZ)| 24.0g | YM-99C-DPA - PA
A502080-F 6.0 : 30.0 : 450 : 105 35 | #%% @ JUR YvIIL| 23.0g | YM-99C-DPA - PA

A502080-V 6.0 : 30.0 : 450 : 105 RO.3 | #% @ JUR YUZ| 24.0g | YM-99C-DPA - PA

K502080CF | 6.0 : 30.0 : 450 : 10.5

K502080E 6.0 : 30.0 : 450 : 105 R1.0 | SUSE | ZUR YvZ)L| 24.0g | YM-99C-DPA - PA
K502080F 6.0 : 30.0 : 450 : 105 R1.0 | #% @ A4 YVIIL| 24.0g | YM-99CDPA - PA
K502080M 6.0 : 30.0 : 45.0: 105 R1.0 | SUSE | #4) YV ZIL| 24.0g | YM-99C-DPA - PA
K502080L 7.0 i 30.0 : 450 : 105 R1.0 | #% @ JUR yvJIL| 23.0g | YM-99C-DPA - PA
A504025 8.0 : 40.0 : 60.0 : 125 R1.5 | #%% @ ZURX YvZ)| 41.0g | YM-99C-DPA - PA
A504025-V 8.0 : 40.0 : 60.0 : 12.5 RO.5 | #% @ JUR (yvIIL| 41.0g | YM-99C-DPA - PA
K502080A 8.0 : 300 : 450 : 105 R1.0 | #%% @ ZURX Yyv2)| 23.0g | YM-99C-DPA - PA

K502080B-F | 8.0 : 30.0 : 450 : 10.5 35 | #%% @ JUR YvII| 22.5g | YM-99C-DPA - PA

K502080B-V | 8.0 : 30.0 : 45.0: 10.5 RO.3 | #% @ ZUR yuZ)| 23.0g | YM-99C-DPA - PA

Vi
2
Vi
2
2
2
2
2
2
2
2
35 | SUS®R A4  YvTIL| 23.0g | YM-99C-DPA - PA
2
2
2
2
2
2
2
2
2
2
2
2

K502080H 8.0 : 30.0 : 450 : 105 R1.0 | SUSH | JUR yvIIL| 23.0g | YM-99C-DPA - PA
K502080N 8.0 : 300 : 450 : 105 R1.0 | SUSE | #4)b ¥vZIL| 23.0g | YM-99C-DPA - PA
K504025A 8.0 : 40.0 | 60.0 : 125 R1.5 | SUSH | JUR yvIIL| 41.0g | YM-99C-DPA - PA
A609020 10.0 | 50.0 : 70.0 : 8.2 R1.0 | #% @ JUR (yvJIL| 34.0g | YM-99CDPA - PA
A701050 10.0 : 50.0 : 80.0 : 16.4 R25 | #% @ JUR (yvJIL| 95.0g | YM-99C-DPA - PA

A701050-F | 10.0 : 50.0 : 80.0 : 16.4 60 | %% @ JUR YvIIL| 101.0g | YM-99C-DPA - PA

2
A701050-V | 10.0 : 50.0 : 80.0 : 16.4 RO.5 | #% @ JUR ¥yvJIL| 102.0g | YM-99C-DPA - PA

c|l<|C|CciCc|c|cic|IL|ClCc|K|clc|c|c|cl|Ci|E|clc|c|ci|Cici|cl|cicI|I|c|ci|c|c|c|]|c|c|c

K701050D 10.0 ;| 50.0 @ 80.0 ;| 16.4 R25 | SUS% | JUR  ¥vZIL| 95.0g | YM-99C-DPA - PA

L



¢C

$B

oA

==
3
3
——
D

RAIE

i - 3 WS _
= A B _C D E e EEE | = HE
K208005C 2.0 i 20.0 i 40.0 15.4 R1.0 SUS % JUR ST 12.0g | YM-99C-DPA - PA
L605050A 20 i 20.0 i 32.0 8.2 R1.0 SUS % JUR il 8.0g | YM-99C-DPA - PA
L605050C-V 2.0 : 20.0 : 32.0 8.2 RO.3 SUS & JUR Sl 8.0g | YM-99C-DPA - PA
A208004 3.0 15.0 : 30.0 10.4 R1.0 #*R JUR T 5.6g | YM-99C-DPA - PA
A208004-V 3.0 15.0 i 30.0 10.4 RO.3 %R JUR TN 5.6g | YM-99C-DPA - PA
K208004B 3.0 15.0 i 30.0 10.4 R1.0 #*R T4 VT 5.6g | YM-99C-DPA - PA
A208005 4.0 : 20.0 : 40.0 15.4 R1.0 3R JUR T 12.0g | YM-99C-DPA - PA
A208005-V 4.0 : 20.0 : 40.0 15.4 RO.3 %R JUR T 12.0g | YM-99C-DPA - PA
B605050 40 20.0 i 32.0 8.2 R1.0 %R JUR TN 6.8g | YM-99C-DPA - PA
B605050-V 40 : 20.0 i 32.0 8.2 RO.3 #®R JUR ) 7.0g | YM-99C-DPA - PA
K208005A 4.0 : 20.0 : 40.0 15.4 R1.0 SUS % JUR T 12.0g | YM-99C-DPA - PA
K208005D 40 : 20.0 : 40.0 15.4 R1.0 %R FA4IW VT 12.0g | YM-99C-DPA - PA
K312030C 40 30.0: 60.0: 20.0 R1.0 SUS % JUR ST 36.0g | YM-99C-DPA - PA
L605050B 40 i 20.0 i 32.0 8.2 R1.0 SUS % JUR ) 6.8g | YM-99C-DPA - PA
L605050D-V 4.0 : 20.0 : 32.0 8.2 RO.3 %R FA4I VT 7.0g | YM-99C-DPA - PA
K208005B 5.0 : 20.0 : 40.0 15.4 R1.0 SUS % JUR T 12.0g | YM-99C-DPA - PA
K208005A-V 50 20.0 i 40.0 15.4 RO.3 SUS % JUR TN 12.0g | YM-99C-DPA - PA
K312030B 50 30.0i 60.0 i 20.0 R1.0 %R JUR v 37.0g | YM-99C-DPA - PA
A312030 6.0 : 30.0 : 60.0 : 20.0 R1.0 %R TJUR YT 35.0g | YM-99C-DPA - PA

A312030-F 6.0 | 30.0 : 60.0 : 20.0 6.0 %R JUR {2V7)b| 34.08 | YM-99C-DPA - PA

A312030-V 6.0 i 30.0 ! 60.0 : 20.0 RO.3 #HR JUR {YvJ)| 35.0g | YM-99C-DPA - PA

K312030C-V 6.0 i 30.0 : 60.0 : 20.0 RO.3 | SUS% | JUR (27| 35.08 | YM-99C-DPA - PA

K312030F-F 6.0 i 30.0 { 60.0 : 20.0 6.0 | SUSX% | JUR v VZ)b| 34.0g | YM-99C-DPA - PA

ONIHVY3g

]
(o}
e
=
m
]
o]
=
(5]
m

K312030G 6.0 30.0 { 60.0 : 20.0 R1.0 | SUS® | #A4) {22TJb| 35.08 | YM-99C-DPA - PA
A409001 8.0 40.0 | 80.0 : 25.0 R1.5 #HR JUR iYvJ) | 58.0g | YM-99C-DPA - PA
K312030A 8.0 30.0 : 60.0 : 20.0 R1.0 #HR JUZR {YvF) | 12.0g | YM-99C-DPA - PA

K312030A-F 8.0 1 30.0 | 60.0 : 20.0 6.0 #%R JUR YY) | 35.08 | YM-99C-DPA - PA

K312030A-V 8.0 30.0 { 60.0 : 20.0 RO.3 #%%R JUR i 2V7)b| 35.08 | YM-99C-DPA - PA

A701060 10.0 i 50.0 {100.0 : 31.2 R2.5 %% JUR YT | 125.0g | YM-99C-DPA - PA
A701060-V 10.0 : 50.0 :100.0 : 31.2 RO.5 #HR JUZR Y vJ) | 133.5g | YM-99C-DPA - PA
A811020 10.0 :1100.0 :130.0 : 16.0 R1.0 #%R JUR YT | 158.0g | YM-99CW-DPA - PA

||| CILK|CIC|ciclCLI<|C|cCcI|cI|clcicicI|ciL|clCcI|IcIk|clc

K701060A-V | 10.0 : 50.0 :100.0 : 31.2 RO.5 | SUS% | JUR 2v7)b| 133.5g | YM-99C-DPA - PA

¢B

¢$C2

E - K 0w _
== A B C C D E e mEE | e = HH
A612010 3.0 15.0: 20.0: 30.0 7.3 U R1.0 #;R JUR )N 3.6g| YM-99C-DPA - PA
A612020 40: 20.0: 28.5: 40.0: 11.0 U R1.0 %R FJUR )N 9.3g| YM-99C-DPA - PA
K612020B 40: 20.0: 28.5: 40.0: 11.0 U R1.0 R FTA4I T 9.3g| YM-99C-DPA - PA
K612020A 5.0: 20.0: 285: 40.0: 11.0 U R1.0 | SUS% JUR ) 9.0g| YM-99C-DPA - PA
K612030A 5.0 30.0: 45.0: 60.0: 15.2 U R1.0 %R JUR )N 30.0g| YM-99C-DPA - PA
A612030 6.0 30.0: 45.0: 60.0: 15.2 U R1.0 %R JUR )N 29.0g| YM-99C-DPA - PA
A612040 8.0: 40.0: 60.0: 80.0: 185| U R1.5 %R JUR V7)) | 49.0g| YM-99C-DPA - PA
A701070 10.0: 50.0: 80.0:100.0: 23.6 U R2.5 #®R I JUR YV IIL|1 10.0g| YM-99C-DPA - PA

Don't Reprint



BEARING ROLLER GUIDE ~7yvsa-5-sr

No./ BI& C703001 No./ B C204040

16
M1.4x0.3 r \ ;
o
\ of ©
4
MATERIAL/ A4 EE YM-99C-PBT MATERIAL/A4 EE YM-85C-99C
weight/ B8 0.50g weight/ S8 1.80g ROLLER GUIDE=A804042
SURFACE/ZRET EIF DPA 68/1.522 SURFACE/RET EIF DPA 68222
A804040 C707080
3
' M2x0.4
d L i
- 2
7
MATERIAL/$4 ES YM-85C-99C MATERIAL/3 ES YM-85C-PBT
weight/ B8 1.80g ROLLER GUIDE=A804042 weight/ B2 1.90g
69277

SURFACE/ZREIT EIF DPA 68222 SURFACE/ZREIfE LI DPA

_ A202020

K202020C

ONIHV3g

]
(e}
o
=
m
]
(2]
=S
o
m

MATERIAL/ 34 ES YM-85C-99C MATERIAL/ 34 ES YM-85C-99C

weight/ B8 4.00g ROLLER GUIDE=A209061 weight/ EEE 3.90g

SURFACE/ZREIfE LIS DPA 69222 SURFACE/ZREMT £ DPA 69222
C708077 C708078
4 4
M4x0.7 M4x0.7
\ 11 3 1t 8
T e | s

10 10
MATERIAL/ 34 B8 YM-85C-PA MATERAL/AHES YM-85C-PA
weight/ B8 950g weight/ S8 950g

69477

SURFACE/ZREMT EIF DPA 69422 SURFACE/RET EIF DPA

e e



No./ B B103020

MATERIAL/A4 EE
we\'ght/ 58
SURFACE/REIT EF

YM-85C-99C
15.0g
DPA

A103020

MATERIAL/F4ES

SURFACE/REIT_E(F

=4 ©
s »
M4x0.7
YM-85C-99C
14.5g
DPA 68377
B510010
(D
i
M4x0.7 Q

MATERIAL/#4 ES YM-85C-PA

15.0g

P14

MATERIAL/F4 B8

DPA 69477
C809010
M4x0.7 3
=
Hratp 1~ ©
5
YM-85C-DPA-PBT ~
2.30g
69427

SURFACE/REIT EF DPA

No./§ A210012

MATERIAL/34 B
we'\ght/ 58
surFACE/ZREIfL EIF

MATERIAL/F4 ES
we‘\ght/ i%

SURFACE/ZREIT E(SF

MATERIAL/34 B8
we'\ght/ 58
surRFAce/ZREIE_EIF

M3Xx0.5 é‘g
(]
l®
ﬂ—l——+—} 2
n
9
YM-85C-SPCC
11.5g
DPA 68327
C703030
a4
i ]
® N o
© Y] i
+
M4 X0.7 9
i : ]
[Te}
Yymgsc-pA | 10
10.0g
DPA 694727 8
8
A408175 32
co
=
+
M4x0.7 z E)
{ | 0
1Y \
8
YM-85C-SPCC "
28.0g
DPA 69477
|
M6x1.0 o
o
f — h =1
1 J_J 2
YM-85C-DPA-PBT 8
43.3g =
DPA 62627

Don't Reprint



BEARING ROLLER GUIDE ~7yvsa-5-sr

No./§ C703023 \| = B707001
6 $1.2
¢1.2
(o
e N o«
| = - g
[Te)
16 S
10 ‘ 4 10 2
6
MATERIAL/ A4 EE YM-99C-ABS MATERIAL/A4 EE YM-85C-ABS-PA
weight/ B8 035g weight/ B8 080g
SURFACE/ZRET EIF DPA 68/1.522 SURFACE/RET EIF DPA 68222
C806010 _ C404003
TLT RO
[\
A\ ,
i T2 ]
L S
1 Zi\ g 2 ®
‘ an
24
4
MATERIAL/ A4 EE YM-85C-ABS-PA MATERIAL/A4 ES PA
weight/ B2 294g weight/ B2 1.1 g
= SURFACE/ZREIFE £ S DPA 68322 SURFACE/REIE LIS DPA c83z2E
(]
ro
- m
- C404004 N C607019-A
§ [9)
R1 4.4
MATERIAL/ A1 E PA MATERIAL/ 34 ES PA
weight/ B8 388 weight/ EEE 37g
SURFACE/ZREIfE LIS 69422 SURFACE/ZREMT £ 62322
C404006 _ /HE C404008
R1.5 8 R2.5 8.5
REEE ERiEEE
MATERIAL/34E8 6 MATERAL/AHES 7
weight/i% 10 we\'ght/ﬁ% 12
SURFACE/ZREMT EIF 62622 SURFACE/RET EIF 60822

e e




